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6. The absolute extreme values of the function f(x) = x2 —4 on _ﬁ
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(@) eyl
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(d)
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13. If_f(x)=1logsz(2x+5), then f'(x) = *j
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b)ln3 27
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(@) elda
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14. The function f(x) = ———is discontinuous at x = v
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8. The 5th derivative of the function f(x) = sinx is

[
a) -sinx
b) cos x
c)sinx
d) -cosx
A
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(a) sy
b) @
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(d)
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11LIf f(x) = V2x + 1, then f'(x) = !_
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15. The equation of the tangent line to the curve y = x3 e* + 4x

at the point (0,1) is
a)y=4x-1
b)y=4x+4
)y =4x
dy=4x+1
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9. The range of the function f(x) = 2¥ + 2 is @ |
a) (—2,%)
b) (2, )
c) (—,2)
d) (-0, -2)
X .y
(b) @ daraal LY
(@) Y
®) @
(c)
(d)
10 Iyl

Scanned by CamScanner



(d)

20 Jijall
)
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22. The function f(x) = 5;-55 -_is continuous on

a) R = {5}
b) R = {=5}
R

d) R - (0}
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(d)
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18.1f f(x) = e*~3 and g(x) =V, then (f ¢ g)(9) = v
a) e®
b) 1
c)Ve?
d)e?
t hasadll LAY
b) @ sy
(@) Py
©) &
(c)
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19 iy
19. The function f(x) = [x + 5] is not differentiable at x = : -\{'ﬂ“ '-
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19. The function f(x) = |x + 5| is not differentiable at x = ,_a
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c)-18
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24, -i; (—3x*cotx) =

a) 6x(csc? x — cotx)
b)=3x(x csc? x + 2 cotx)
¢) 3x(x csc? x — 2cot x)

d) 3x(2.cotx — x csc? x)
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